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Al 458,000
01 A& Hl ,244,578 2,031,578
0¥ AW 2509 T 2AY
2,244 ,578,000& » 10H 4 , 244,578
X , 795,062
Al 449,516
02 Zteltl 35,330 35,330
OFY FAUEsAY 2g Zaltl
2,387,130,000& * 1.48% 35,330
X 28,264
Al 7,066
03 A& 2 THHI 7,092 7,092
OFY AW & AE AER0H
7,092,000 = 10H 4 7,092
Xl 5,674
Al 1,418
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2N

B HAUAY
SE R -PNEE P )
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
101 @124 H] 4,800 0 4,800
= 1,440
Al 3,360
04 JI2ZtHIZ22ANEE S 4,800 0 4,800
OMNEFTHAEAMSEXHE MM
100,000& ~ 8% « 6& 4,800
& 1,440
Al 3,360
307 2iz2tol & 36,000 0 36,000
& 10,800
Al 25,200
11T AISIEXAIEEX 36,000 0 36,000
OFAEANAE SAA HR2MHA 36,000
HAUSPAL MMM
100,000 = 12% * 12€ 14,400
o 4,320
Al 10,080
OFFANEAENMNSGERHEH HR2HL
100,000& * 8YH x 128 9,600
o= 2,880
Al 6,720
ONBEZ=EAEMNSEAHEH HAR2HM
100,000 = 8H x 6¥ 4,800
o= 1,440
Al 3,360
OFAESNSOIIIEHO HRMA
100,000 = 6Y€ * 12& 7,200
o= 2,160
Al 5,040
StpEt AW ZSEAAHE 2 25,000 0 25,000
307 QI2t0| & 25,000 0 25,000
02 QI2tAAMAIE E =X 25,000 0 25,000
oD % HAE ZEXAR 2
25,000,000& * 102 25,000
HAad 2319 ¥ 24 5,000 0 5,000
307 gizto| & 5,000 0 5,000
02 QIZ2HA AAIE B X 5,000 0 5,000
Ostn g HAHE 39 & 2% 5,000,000 5,000
HAHE B 1,924,035 1,753,628 170,407
= 62,089
J| 930,479
o= 203,803
Al 727,664
HAUW A& BSAY 35,000 35,000 0
307 QI2t0| & 35,000 35,000 0
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Ha: HAWAY

el EadE 8BS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
11T M SRASE EX 35,000 35,000 0
OBAY HEEBAL(HRRHANSARAEET
HAEF XA 15,000,000& * 1JH 2 15,000
OFAHEESAY FX 10,000,000 * 200 & 20,000
Fa4E SE|NMAHATRS 184,600 180,200 4,400
J| 92,300
Al 92,300
101 @124 dl 30,113 57,707 N 27,594
| 15,057
Al 15,056
M4 D12t ZE2XRHEES 30,113 57,707 AN 27,594
OSENAMA AAHH(MEZ=HH) 30,113
ool 2l 1,286,380& * 2H » 63 15,437
J| 7,719
Al 7,718
OFEFItHI 643,190& * 2H « 13l 1,287
J| 644
Al 643
OF M Z Al 130,000& * 2H » 63 1,560
J| 780
Al 780
OxH22+E
9,230 * 20AI2F » 2 « 6 2,216
J| 1,108
Al 1,108
OEIMME= 128,638 * 2H » 63 1,544
J| 772
Al 772
(OZAN Jh=-PNR=PUE ==
190,000& = 2H » 63 2,280
J| 1,140
Al 1,140
oJlgs=g 643, 1903 = 2Y « 23] 2,573
J| 1,286
Al 1,287
OJHAI X & bl 643,190& * 53] » 1H 3,216
J| 1,608
Al 1,608
201 Let24d] 7,884 15,580 AT,696
J| 3,942
Al 3,942
01 At 22l 7,884 15,580 AT,696
OFAs 2L (MEFHH) 450,000& 450
J| 225
Al 225
oZzY 2IHI(MEFHH) 5,184,000 5,184
J| 2,592
Al 2,592




FAN:ATSHED
N FAEMY

el EadE 8BS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OEES MEUI(MEFHH) 2,250,000& 2,250
J| 1,125
Al 1,125
202 (44l 6,000 12,000 A 6,000
J| 3,000
Al 3,000
01 S LHOIYI 6,000 12,000 A 6,000
CEEES I TIOE-E =)
250,000 = 4% ~ 6& 6,000
J| 3,000
Al 3,000
301 et a =z 2,153 4,813 A 2,660
J| 1,076
Al 1,077
01 MEIBEE 263 333 673 A 340
OfINEA~YE 232X N (MEFHH)
182,000& 182
J| 91
Al 91
OfJIEaH o2 ¥ HEXNIA(MEFMEH)
150,500& 151
J| 75
Al 76
09 AL HIZB &S 1,500 3,500 A 2,000
O&THEH dAAH 243 1,500, 000& 1,500
J| 750
Al 750
NJEEd=s 320 640 A 320
OXZSAX AHIEAS(MEFHEH)
20,0003 = 2% * 43| * 23 320
J| 160
Al 160
307 glz2tol & 138,450 90,100 48,350
J| 69,225
Al 69,225
11T M SXAISE EX 138,450 90,100 48,350
OFALAEHEEXNIMARAZT(EF=LH)
92,300,000& 92,300
J| 46,150
Al 46,150
OHAEHEEXNIMARAS(MEFHH)
46,150,000 46,150
J| 23,075
Al 23,075
S % HAW X2 234,000 234,000 0
J| 163,800
Al 70,200




SA QYA D
Ha: HAUAY

Chelr Hal B3 (el:de)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
101 14 Hl 44,676 82,500 AN 37,824
| 31,272
Al 13,404
04 JIZHHZ22XREES 44,676 82,500 AN 37,824
Ostw g HAEXA AU (MEFHH) 44,676
OJle=2(3Y) 22,460,000& 22,460
| 15,722
Al 6,738
OYE &Y (3YY) 1,871,500& 1,872
| 1,310
Al 562
OFAZAHI(3F) 2,340,000& 2,340
| 1,638
Al 702
OZW2R4=(3Y) 3,251,500& 3,252
| 2,276
Al 976
OEIXNYZ3(3Y) 2,500,000& 2,500
| 1,750
Al 750
OJHAXI &4l (3F) 4,679,000 4,679
| 3,275
Al 1,404
O4UHBEE AL NS S (3Y) 3,350,000 3,350
| 2,345
Al 1,005
OJlg+¢(3%) 3,743,000 3,743
| 2,620
Al 1,128
Ons=g(1g) 480,000& 480
J| 336
Al 144
201 Let249] 7,974 20,000 212,026
J| 5,583
Al 2,391
01 At 2t 2|l 7,974 20,000 A 12,026
OMHS YU (ME=HEH) 1,500, 000& 1,500
| 1,050
Al 450
Oz Y 2IHI(ME=HH) 6,474,000 6,474
J| 4,533
Al 1,941
202 odl 3,600 7,500 23,900
| 2,520
Al 1,080
01 = LH YI 3,600 7,500 A 3,900
CEEES NN EEX=p 3,600,0002 3,600




SM: TS D
Ha: HAWAY

el AW 235 (e @e)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Pl 2,520
Al 1,080
301 Bt A= 2,250 7,000 N4, 750
J| 1,575
Al 675
01 AR E & A 462 1,000 3,000 A 2,000
ostnetaAd XHIHA 1,000,000 1,000
J| 700
Al 300
09 #HAIAHI BAZ 1,250 4,000 A2,750
OSt XIS HE SHAIAH E43
1,250,000 1,250
J| 875
Al 375
307 QI2t0| ™ 175,500 117,000 58,500
J| 122,850
Al 52,650
02 QI2tAMAIE E =X 175,500 117,000 58,500
OStD % HAEXA(HEME)
117,000,000& = 14 A 117,000
J| 81,900
Al 35,100
Ostn ¥ AKX (ME=HH)
58,500,000& * 1JH A 58,500
J| 40,950
Al 17,550
S Z2 )91 & 157,626 85,024 72,602
J| 78,813
Al 78,813
101 e1214| 35,261 0 35,261
J| 17,631
Al 17,630
04 JI2tHI22NEES 35,261 0 35,261
OANHETHEYH SEIXNIEZZ2OH 29 C1AHH (Y
M1 AI2ZEH 49H) 35,260,400 35,261
J| 17,631
Al 17,630
307 QI2t0| ™ 122,365 85,024 37,341
J| 61,182
Al 61,183
02 QI2tAAMAIE E =X 122,365 85,024 37,341
OFAE SEIX T2 29 (E3=4H)
87,103,200& * 1002 87,104
J| 43,552
Al 43 552
OFAE SEHX T2 29 (ME=HAH)
35,260,400 35,261
J| 17,630




HAEAS
Fad B3 cet )
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| Al 17,631
HFAEEEIE A Y 9,300 9,300 0
J| 6,510
Al 2,790
301 gtE L= 9,300 9,300 0
J| 6,510
Al 2,790
01 MI2EZE 6= 9,300 9,300 0
OHELAEEEXNIAANGE 293 9,300,000& 9,300
J| 6,510
Al 2,790
snE" AAs NJAHH 26,386 25,692 694
J| 13,193
Al 13,193
307 glz2tol & 26,386 25,692 694
J| 13,193
Al 13,193
11T MISXASEX 26,386 25,692 694
O N=EH AAE NVHE (BFHLHNGS
XdE KHA) 26,386,000 26,386
J| 13,193
Al 13,193
stn s HAad X3 fARE Y AYRE 1,220 1,340 A 120
201 LBt 500 500 0
01 At 22l 500 500 0
Ostw & HAUXF A} & 500,000 500
301 et A=z 720 840 A 120
09 AL HIB A S 720 840 A 120
O%D % BAEXNASIAE A Ay B4
8,000& = 159 « 43| 480
Ostw & HAUCEHN 223 AHE4
8,000& = 10¥ « 33 240
a4 s 23X 303,064 438,684 A 135,620
J| 151,532
< 45,459
Al 106,073
307 21201 A 303,064 438,684 A 135,620
J| 151,532
< 45,459
Al 106,073
11T MISRASEX 303,064 438,684 A 135,620
ogu= ototolal 2¢
151,532,000& » 200 & 303,064
J| 151,532
< 45,459
Al 106,073




SA QYA D
Ha: HAUAY

2 Fad 2SS (Sl & &)

SN - EAEA) - MRAL

01
o

Off &t 24

=

M
2Hm
==
£l
Ol
0y

02

EN

(m

d8 28X

[0
o

848,662 729,388 119,274
Jl 424,331
127,300
297,031

= M

307 Q12+0| & 848,662 729,388 119,274
424,331
127,300
Al 297,031

hn X

&
=]
S
0
Jm
oy

848,662 729,388 119,274
848,662

©
0
k>
i
0t
(sl
M0

N
8 2<% (15~202! 0/gh)

282,710,000& * 1JH A 282,710
Il 141,355
= 42,407
Al 98,948

0

O
o
m
A=
02
-
M 02

OWHI EAEEH 2 (15202 0/2H)

282,710,000& * 1JH A 282,710
J| 141,355
= 42,407
Al 98,948
OgA EadEH 29

283,242,000& * 1JH A 283,242
J| 141,621
= 42,486
Al 99,135

Ot
o
i
0
%
o
o
oy
=
s
Mo
02

12,000 15,000 A 3,000
6,000
3,000
3,000

= H W

307 glztol & 12,000 15,000 A 3,000
6,000
,000
3,000

= M H
w

02 It HAMAEE 12,000 15,000 A 3,000

,000,000& = 3JHEHA 12,000
6,000
,000
3,000

=MW
w

>
k-
Jn
Ol
[=)
0x
]
k-
M
Ho
0z
010
Ot
pa]
o
>

77 0 112,177
56,089
,044
28,044

= W
&

307 QI2t0 & 112,177 0 112,177
56,089
,044
28,044

Nl
&

01 A= 2Hl 12,177 0 112,177
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